o3 BT Government of Karnataka SRS

MTEWRE 830 QRS Department of Public Instruction Version

TTOEEIT TOWO MY di’aeraéoés 03 WONEFTEO TOISY (9.)
Karnataka School Quality Assessment and Accreditation Council r)
3.05°.0.9.9., 63¢ @Cé dé, me}f%do, 3onsptd-560003. KSEEB, 6" Cross, Malleshwaram, Bengaluru-560003.
RN, OF £o-TToF 3T
Samagra Shikshana—Karnataka

BTIE ATROOBNE 63¢ ITRSA Ts3eB T[OCE  [7oF sown ¢ 100
Adarsha Vidyalaya Entrance Test for 6th Standard Max. Marks : 100

(ALplel: 17-03-2019 ST - HPOD @ B9R 10:30 00T 1:00 =3
— - -
Date 55‘4@ / BoNew Time :10:30 am to 1:00 pm

Ty drnen BRWSne / Instructions to students :

L. w§ SR, PoTTN Wl ©F FN&@%@CSJ
Read slowly and understand the questions.

2. TS @é’cﬁ A, B,C,D Q0w 4 eﬁo:'i%oda m@dmﬁ?p& aecéeroﬁdogd. QRNTYY FO03RT emgd%i
2OW FTIW, TNRT, w.20.80°3Y D OFPT FF), WO Tooworr® IJYV0T Jew  TRBYT.
Each question has 4 options, namely A, B, C, D. Out of these, shade only one circle as answer in the OMR

with blue or black ball point pen only.

3. 2.R0.80°TY QORI B0 DTITT SRTWOONT), YWIOTBTHMON 85 FYFOBOZ BT,
Example is given to shade the correct method in OMR.
10 apes/Correct Method 3T Nwex/Wrong Method

®,%0./Q.No. | «VST/Answer ®,%0./Q.No. | «VST/Answer

L ®EOO L GHROO
2. 0BO® 2. ®E®O
3, ®EO 3. ®@00
4 ®OOO 4. 000D

4. 2.0 BTJN .0TOT Bed), SOPNYR, Few [RBWRT.
Must not shade more than one option for one question.

5. 2.00.8073Y 03RR)Te ), TN, [HPTWLIDTT ToNw BOONTOZ, DBWHOZ N3 BRI
Do not erase or rub in the OMR and do not fold or tear the OMR.

6. 2.00.80°3Y TOWORAT BRLENTI, ITTIC IS B[R
Fill up the OMR with related 1nf0rmat10n without fail.

7. ) QOITNON IBFRTT WOENPTLRHNY. STOOT 2R TJNENL YOIOR.
There is No Negative marks for incorrect answers. So attempt all the questions.

8. 2.00.5°°89 Sﬁwé%o.‘o TR O™, et SRWYT TN amz@?oﬁ o QOWY FEOLEN Beo TRWHTD.
Shade the questlon paper version in OMR and put a signature in student signature box compulsorily.
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6. & Tyoh, W BIOAROAR BPODL, TAITWT VOISR, HB3X :

6 6

&’ W’
i) 3T oordneE ) wRJITO 12
i) ol V8T .WoSTFT wODOS ©) onx 15
iii) ARZog, HTTH Q) WIRO 26
iv) A0 QFeFTOT WO ) & 14
M) TFOWT® 1
LT
1 i 1 1v
A v, @, 8,
B. @ ®© & o
C. &, 8, © g
D. oo, 8, &,

BRI BeTT B0ZOH, Wh WFFBR0W, T3, B0, 7 oW 9 TSR ¢LI0A !

WTOBND  TSPOWOT TITE ALI[I, SOSARYAT BRC STV TTOTL  TBED
IRE BWEORY JeR FTOT-0T &, ToTENYR OO0-O0-0€0ITY HRIATI,. W =VYT
RBRQVY DOWOT TWTOBW THIIT FeBNY. VIJTY IWFTTY WFHo YSTT  8J0NTY
DRONIY.  WOWIONTOZ IVHD, WEOT BPRITL, [ROZ, DWTWES TEF ITWATR.
LROBT MRATH. BOTEZ IRATR, 0DFS IXRNNTI, SEATW. Gt TTFEINIY
DRTD. OERUTY [T ODTWT WONRWE 0T, T, WFEN BT DI ATEIT TTR
WONR. WMRTFOD IITNW PTOWOR WPFNT TFY TRTID. TTOIT Tort  FRF|ION
BONYTY, TRATIWL IIWDQY WTY. PP TTOWD, OFP Tewd, & FTHUROTOT, & TWOPNY,
€ BRNOBPAD, B ©TFE-2BI WOZAWM, 9B WHTY WL, BTO OB0RR, WNT FINTI),
CuATOT 59003 FIRET 0 T HIYT HOFNET, TWATHT. WS JTOS, RO TFOA,
WIOW TEED FIR, CDFMOT LODERE, AONTIT WPFERET, FTNMYBW, TRHTTIT BI) TN,
BPTY IINAWD JRTERT ZENW IR WLIT TFownge FONYT 3 3nFoNnss.

7. 3T ToTH TOTOITD z:m)d% :

A. 00-00-0F0ITY 3T 33T BFONY

&

00-00-0F0I8Y Tire 3B BGOHY

a

00-00-0F0I8¢ 033 IR RICHY

©

Q0-00-0F023Y BEw 3B BEONY
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11.

12.

FT030R 30T &, WFEL TJR T BT TP Foww ERy 7o !

) o i

A, DRTHOD FIRAWD

w

230T0d
C. o$§m5 20N

D. B WHTRF B B0DAD

PTOTT WROTT Tone RO TWoE FICHEY, NFIVT3 39T LT €O :
A, DY WHTF TS BTZ ARTD

B. sund ogodsg IS DT, AeRT T

C. =3ng @C,Séosm maaé emcéezﬁmﬁ:é%

D. Smound «9) woeRs Wi @) §Endmy, Samnd

3Y, T, WSS oW mmzﬁwﬁ?ﬁa& TRWDT WO I -
A. O B. @&

C. o D. on

9B 003 BT PAIWIY IR, IORYR, MIFIL IRAFDIFS SPRT.
B3 TRFWOTLE OFFETORD -

A. IO B. T3

C. I=F3 D. &35

TRTODT Ma%d WS BT 3THOND esdmcﬁééé z.;%oﬁoz:b
3 msﬁwg BRNS I8T I3 wgdﬁeésaq RRR WICINT TOSRT T
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C.Q§+d®€+ﬁé+§+ﬁe
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ENGLISH

The picture indicates :
A. Watering plant
. Playing with a plant

B
C. Plucking leaves
D

. Standing next to a plant

us / Animals / feel / also / like
Select the correct meaningful sentence :

A. Feel animals also like us. B. Animals also feel like us.

C. Us also like feel animals. D. Animals feel us like also.

Believe in Love

Believe in Truth

Complete the poem by selecting appropriate line given below from the poem, ‘Believe’:
A. Believe in Faith B. Go for a work
C. Give your time D. Believe in Fight

Saniya said “Good morning Mr. Horse”.
The horse said

A. moo B. caw

C. neigh D. mew

By the way, can you guess who the boss was
The punctuation mark to complete the sentence is :

A <0 B. »
C. D. <’

The opposite word of ‘fearful’ is :
A. fearless B. fearsome

C. flawless D. flowers



10.

11.

12.

The meaning of the word ‘kind’ is :

A. king B. harmful
C. helpful D. kill
Rashmi is sitting the bench.

Look at the picture and fill in the blank with suitable word :
A. in B. on

C. near D. under

The Bravery Awards are announced on November 14th (Children’s Day) and
presented by the Prime Minister on the eve of the Republic Day. The national awards
for bravery began in 1957. The first award was given to a child who saved the life of
the first Prime Minister of India.

The above paragraph tells us about :
A. Pandit Jawaharlal Nehru B. Children’s Day
C. Prime Minister D. The Bravery Awards for Children

date, cherry, berry, apple
Arrange the above words in a dictionary order :

A. apple, cherry, berry, date B. date, cherry, berry, apple
C. apple, berry, cherry, date D. berry, cherry, date, apple

OCCAMHNA

The above set of letters can be rearranged to get a meaningful word is :

A. MANCOACH B. MANAHOCC
C. HOCAMNAC D. COACHMAN
Abdul is neatly.

Fill in the blank with ¢ ing’ form of the verb given below :
A. waiting B. writing

C. writeing D. wroting



13.

14.

15.

16.

i)  She s rich and rare land
ii) This native land of mine
iili) Oh! she’s a fresh and fair land

iv) She is a dear and rare land.

Read the above lines from the poem ‘My land’ and arrange in the correct order :
A, 1-1v-iil -1l B. i-ii-iii-1iv

C. iv-iii-1i-1 D. i-iii-iv-1i

Vishnu likes sports. He climbs rocks in his free time.

‘He’ refers to

A. Sports B. Vishnu
C. Time D. Rocks

Look at the picture and fill in the missing letters :

Rathna is a girl.

Fill in the blank with suitable adjective :
A. beauty B. beautys
C. breath D. beautiful



ned2 / MATHEMATICS

“ZoyeEg 37oR Y% onne Hoss;
A. 2 B. 0
C. 3 D. 1

Number of vertices in a “Cylinder” is :
A. 2 B. 0
C. 3 D. 1

.00 Reetd DI BB 17, ©o3x 23 JectsF DIINY BSB :
A. 391 B. 85
C. 3544 D. 271

The cost of one note book is 17, then the cost of such 23 note books is :
A. T391 B. ¥ 85
C. 3544 D. %271

2.0% WeOnY 45 3.23 FFT AW, YOI 58 WeOTPHT FFTCH i, ST !
A. 25108.22 B. 3825%.2
C. 2585%8.2 D. 26103%.2

A bag contains 45 k.g of sugar. The total weight of sugar in such 58 bags is :
A. 2510k.g B. 3825k.g
C. 2585k.g D. 2610k.g

2.0% o 8 NOWNRYY 744 $.00¢ TRAWS, VW 20T NOECHY FWAT FTHRO Bed !

A. 93 3.a0¢ B. 183 3.2%¢

C. 9.338.0¢ D. 90.3 $.c0¢

A train covers a distance of 744 kms in 8 hours. Then the average distance covered
by the train in one hour is :

A. 93 km B. 183 km

C. 93km D. 90.3 km



89438 — 58 49 =30689 =TT, 3@%&5 PR WTWeHT 50@36 :

A. 8 B. 7
C. 6 D. 9
89438 — 58 49 =30689, The digit to be filled in the given box is :
A. 8 B. 7
C. 6 D. 9

35T W I 84.75 Teend. 33 IeorQ 18.08 &roé&gs ﬁwﬁa& BROTWT, WTT WP LVPOINT IW ¢
A. T78.73 B. 76.73
C. T66.67 D. %66.73

Akash has < 84.75. If he spends %18.08 to buy pen, then the remaining money with
him

A. X 78.73 B. X76.73
C. 366.67 D. %66.73

65 D3y 218 WOTRTD sﬁmés :
A. 40 B. 50
C. 44 D. 49

Approximate difference between 65 and 21 is :
A. 40 B. 50
C. 44 D. 49

w 523@05: TOXFT BWORT) < 96120 3T3, 9TT oD SONY LSTON) !
A. ¥ 8001 B. ¥ 8011
C. %8010 D. ¥ 8100

Annual income of a person is I 96120. Then his one month income is :
A. %8001 B. ¥ 8011
C. %8010 D. 8100

10



9. 8 69 7 11 9
4 5 7
BRYTT SPUNATEY, Ve Y RO AT, BOWL BATINT TOT, eI
ga;amaa& &303% RRR0 .

Observe the given triangles and choose a suitable number pattern triangle to fill
in the blank :

A. B. C. D.
11 7 7 9 13 5 10 8
6 4 6 6

10. o6, 14, |:| , 36, 50. &3 mms 55"'505’511 TROVFRAYT asaacsg QBTN :10935 :

A. 22 B. 24

C. 26 D. 30

6, 14, |:| , 36, 50. To complete the number series, the required number in the box is :
A. 22 B. 24
C. 26 D. 30

11. 4033 WIRY Wy BB PANYD, JIAOHT PFTD |

7 16
A 16 B 7
9 16
C. 16 D. 9

The fraction representing the shaded part of the given figure is :

7 16
A. 16 B. o
9 16

11



12. $04DR IBIOT %, °
A. OX B. OY

C. OC D. OD AmA

The radius in a given circle is : \

A. OX B. OY

M
C. OC D. OD N N

13. 30T WIRY AT SCHINY ST DL !

A. 12cm? B. 15cm?
AG—— B

C. 18 cm’ D. 24 cm’ — “
?, : g | —1
v /g |

In a given figure area between two rectangles is : ] 4cm |
C S D

A. 12 cm? B. 15cm? 6cm

C. 18 cm? D. 24 cm?

14. 5 Zo.owe @5%1 SWERTTR TOFSFATRN -

A. 0.05 e B. 0.5 &oe

C. 0.005 ¢xne D. 0.0005 &»e

Converting 5 cm into meter :

A. 0.05m B. 0.5m

C. 0.005m D. 0.0005 m

A 12



IS. 3eiithsd 32 2ZRE0R0B ) DI WE/LWT® IONERY TRTVWRT FHNRY Fos,
Beer: 1 L0 = 5 R

S0NeH TIOTOLITTOT TOTONED

ZRT

=

-
Qﬁﬂfoa

ﬂ%ouc@

@%.@seuce

A. 30 B. 35

C. 40 D. 45

In a given pictograph the number of cars sold in the month of July and October is :

Scale : 1 ¢ :

Month

June

July

August

September

October

A. 30 B. 35

C. 40 D. 45

13



16. %rLSs B3RO “OhieeE” :
A. |BO
o)

SkEE

»)
@

B
C. CO
D. BOD

In the given figure “Acute Angle” is :
A. BOA
@)

w

¢k

B
C. ICO
D. [BOD

A 14

,D



é)&’@ggﬁ / SCIENCE

Qe 8D ORRFRY HTERINTI, BeeRTLA. 82 BT 30INCYT 33 WTRTHBL T
A. TOIODIBOOT DWF B. 032083000 Qe

C. m@g@od @533233@ D. 283303 é’bcﬁaassf

You have seen drycells in TV remote. The type of change of energy in these

drycells is :
A. Chemical to Electrical B. Mechanical to Electrical
C. Heat to Electrical D. Light to Electrical

FREREINTOT T HTTIRY 32 WAV
A. gomod dwt = B. sx%3s

C. =oonI3 D. moxss

The pure blood which comes from lungs has this gas :
A. Carbon dioxide B. Oxygen

C. Nitrogen D. Hydrogen

353 RN 31 NRNG BENY I BoRWDHISH
W W -0
A. WG B 3 B. 308 %3 e

C. 3e WA Mone D. @hory e 1

Asteroids can be seen between the orbits of these planets :
A. Mercury and Venus B. Venus and Earth

C. Earth and Mars D. Mars and Jupiter

15 A



BT zzsmeg 3O TOBE :
A. VRT3 B. %08 2033003%

C. 23 monoeds D. 50@&@@%@0

The function of root in green plants is :
A. Respiration B. Food Preparation

C. Transportation of water D. Reproduction

N3, THRRY TREeDH FTORTY WFMT FFPFTT LVONRTN AWE, YOTRTTEBCIRNT

A. FE R3000T TF AN WIRTE

B. &3 ;ﬂgp%omocs SN %gpéﬁ WD
C. T 330000 @0 HEN WIURTEH
D. T 330000 FI 33N WTCRBE

Burning of camphor, which is used in your home during pooja, is an example for :
A. Change from solid state to liquid state

B. Change from solid state to vapour state

C. Change from liquid state to vapour state
D

. Change from liquid state of solid state

3RBROL WWFIHY BomOT Fwd & wow ¢
A DROBTH B. mocdng==

C. 3 D. 390

At room temperature, Carbon dioxide is an/a :
A. Element B. Compound
C. Mixture D. Colloidal

16



10.

c&@cé THONE ER0WNRY e L¥Bon ﬁﬁéﬂ@ﬁ QVTORTE ©
A. 3ce3T00 5%71% B. 3eenas msmfo

C. o7y IFAD D. $n9earis

Example for plants growing on the branches of big trees :
A. Insectivores plants B. Floating plants

C. Epiphytes D. Saprophytes

SCHETY e’ Bepne Koas, :
A. 4 B. 8
C. 20 D. 32

Number of ‘incisors’ teeth in an adult person is :

A. 4 B. 8

C. 20 D. 32

BENIPYNTY BOCIRT T jsokes WPH ™OFY’ !

A, B8 DI od B. ©8 @03 I
C. Rééw SNV NON W D. 308 33 sw%
Correct ‘Biennial crop group’ among the following is :

A. Paddy and Ginger B. Cotton and Carrot
C. Carrot and Wheat D. Ginger and Sugarcane
55:@ qeRTY sgwm& BRCOIT “on

A. R80T B. SowegRos

C. mzo» D. =en 33D

The organ which filters the blood in our body is :
A. Lung B. Kidney

C. Heart D. Small intestine

17



11.

12.

13.

14.

VeSOl 5:3_:9 wcpqn’e;! e.-s&aez%% e.-amﬁssmd NIRRT :
A, Q8NT R’ B. Q&3e075 9’
C. ez »° D. deens ‘@’

The vitamin essential for the health of bones and teeth is :
A. Vitamin ‘A’ B. Vitamin ‘B’
C. Vitamin ‘C’ D. Vitamin ‘D’
zwm@sé%& FOTLOWOMIT 50T T -

A. TOTTF B

)

B.
C. 3, D. &3¢

The heavy metal which causes water pollution is :

A. Mercury B. Iron

C. Gold D. Silver
Zoedsacz 53@@@%6:‘135 BITI0TWT :

A. JIpES B. sa;

C. &3 D. e
Aquatic animal which purifies the water is :

A. Crocodile B. Frog

C. Turtle D. Fish
TONF, WEANT IFFHL BRCWT EeANIR BT e TFod :
A. 3RES B. zozedecedd

C. o008 D. o]} TOBOT

The process in which, an adult organism gives birth to its young one which resembles
of its own is :

A. Excretion B. Reproduction

C. Respiration D. Blood circulation

18



15. 2Qen Q0T e Sevwn T ¢
Al Qe DD QO3 OOTE RTTONTOTH)T0
B. 2003 modE o) atdmmd
C. Jedd &) ah O ROTB BRDTONTOTHTR

D. 2c03 mpoTE &3 aodYwd

Charcoal floats on water, because :

A. Density of water and charcoal is not same
B. Density of charcoal is high

C. Density of water and charcoal is same

D

. Density of water is high

16. 300N ST WIWTRIH) BRWILR)W :
A. TTZPERNY T oBNY FOI,
B. To@meand @03 admn@nd 30
C. To2dned &0 TReLIND

D. TTTRNNT RROLBRS FEONED

Molecular formula of a compound indicates :
A. Number of atoms and elements
B. Number of atoms and electrons
C. Elements and protons
D

. Fundamental particles of an atom

19



ppverctd &323@3@5 / SOCIAL SCIENCE

MFINE MOFY TBRCWVCINTS, JRCWINY MO :
A. CRISYOLN B. ¢

C. oDl D. Be3

If group of villages is Hobli, then group of Hoblis is :
A. Taluk B. District

C. State D. Country

Qe 388 TePRy, wRARCIATN, WTT BTWTP) TR N :
A. RBeodE B. 23

-

C. $rw D. 32

When you observe an orange fruit, its shape resembles this planet :
A. Sun B. Venus

C. Earth D. Saturn

RSB mmm@ TRWATHTI ey
A. QD B. %8

C. = D. zom

The colour which indicates water body in a globe is :
A. Blue B. Yellow

C. Green D. Brown

20



TEINOR TOWORATOE, éemmmsq RO

G@9
i @R
iil. DT
ili. =33

oW
iv. &o2%
QTR :

1 il 1ii
A. d, ¢ b,
B. e a, d,
C. e <¢ b,
D. d, e, a,

v

e o o P

‘2,,),
T mdﬁ@ﬁ.raa’be
aoﬂ@m&e
6 asn@m&e
6358)35
md%@&
[

Related to the newspapers, match the following :

3 A9
i.  Daily
ii. Weekly

iii. Fortnightly
iv. Monthly

Answers :

1 i
A. d, ¢ b,
B. e a, d,
C. e <c¢ b,
D. d, e a,

v

& e T B

‘B9
Once in two weeks
Once in a month
Once in six days
Every day

Once in a week

21



EOEXEIM) 86?*@03’534 TN LOTYLIT RGN
A. BIAF, TOINT, WO

B. Sonsetd mmmogs, Tomdsn, Sy
C. QoDFPYT, [FRD, TOTINT

D. F300, COMFNC, WIBNF

The districts which produce more silk in Karnataka are :
A. Chitradurga, Ramanagar, Ballari

B. Bangalore Rural, Ramanagar, Mysuru

C. Vijayapura, Mysuru, Ramanagar

D. Mysuru, Ramanagar, Chithradurga

R GROIT WATWE, Toad PG RO AF, WO IR DY, TOWATS, TPTF H T
D3 DT TR, :

A. éwosé B. modsms
C. ejﬁoleofn D. 566335

If you stand facing to the India map your right hand indicates the East direction,
then the sub direction which lies between east and south is :

A. North East B. North West
C. South East D. South West

$RUDHT UIRY ARUHE I |

A, Decdy B. a@n

C. ©ae D. 3=3®0%
The occupation indicates in the given picture :
A. Weaving B. Carpenter
C. Tailor D. Blacksmith

POIR/ETOS SIS, N Tone LOIRTN WRVTTRN

A. BROHF, 3, 20T B. Zeode, 8, Hons
C. BooRe, MDD, BT, D. Zeode, w05, 3
The correct order of Star, Planet and Satellite in solar system is :
A. Sun, Saturn, Mercury B. Sun, Venus, Mars

C. Sun, Jupiter, Moon D. Sun, Mercury, Venus

22



10.

11.

VRN WPNViRLE I P00 WITNIOT IWeITQ TWRNY JITRRNTY TN
WEBRMHIHI 29 !

A. 33T B B. fo%) maw

C. 2¥3TT T D. 08¢ 3y

Recently the rock which is largely used in the construction of buildings in Bagalakote
and surrounding areas is :

A. Kadapa stone B. Red granite
C. Soap stone D. Sand stone

BRI FOFEIT sgomg HTSTRNTIT FPRRCLS @i:@dodd’ :
BT TS
DD LR

—®

FOORY TTES

c o w »

TOHTD TeINW
23 ed

The marked Geographical feature in the given map
of Karnataka is :

A. Plain Region

. Plateau

B
C. Coastal Region
D. Western Ghats

HTPOCHT TN BOTE BN BOWIRLF WRTHEITTTL TWTOPAT BT !

A. 2,3@—-3;%@ BHRY B. I3 38F Bhm®
C. o280 BDIY D. xone® 2w@owpe

The movement started by Sundarlal Bahuguna to save the forests of Himalaya is :
A. Chipko Movement B. Silent Valley Movement
C. Appiko Movement D. Jungle Bachao
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12.

13.

14.

15.

[0R) ACHWIZN mzsomm SRR TOOR :
A. dd%o%mﬁ dawmxrorbgm

C. J33350N @%ﬁ@mrﬁ%@d

Regular exercise make us :
A. Physically weak
C. Mentally disturbed

B. B8 3 0338 wdeen, BREs

D. 3¢3edriodn 2003ReRIs

B. Improves physical and mental health

D. Growth will be retarded

PRTITY TDITERT, VE TeRR DTOTNRT BRI N TeN ORI :

A. TR TN
23 e e

C. ©xz9 TRFINTY

B. %ZRocdh TRTFSnT

D. 203, TIFINGY

In India, the flat, long and broad ‘doons’ are usually found in :

A. Western Ghats
C. Aravali Hills

B. Himalayan Mountains

D. Vindhya Mountains

55:@ SONTTT TosNFE FoNT T RITHERVOT xodgzg&%&w "ReST PR’ QT BG

A. @33 333

C. @

&3

B. diw "550165

D. omm

‘Devara Kaadu’ which has been conserved by our Ancestors due to their religious

belief and rituals, is present in this district
A. Uttara Kannada
C. Udupi

PR 3T, IRTRACTY RBOHFIR, HBFTe :
A. cséso@s B3OS

C. oFFmonrs B3

B. Dakshina Kannada
D. Kodagu

B. 3, 303 BOS

D. =oafFs Bo

The Earth revolves around the sun on its own axis is :

A. Rotation
C. Half yearly motion
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B. Quarterly Motion

D. Revolution



16. THOL JCLTLASH TOWORAT FOFINTRY, WINE BRWINERONR TReONA WIEND !

6

w’
A, WO 3T dReRAT

b. =»od T sowendd

C. T WO

d ST 0T IRCHAIT

€. TRIIONE TF WordRT

03B
i 1 iv
A. b e d ¢
B. e a, b, d
C. d e a ¢
D. a b, ¢ d

-

Match the following symbols related to the traffic rules :
‘A, 6B9
@ a. No right turn
.2 b. Narrow road ahead
¢. School zone
iii.

d Straight prohibited or no entry

e. Pedestrian crossing

Answers :

i 1 iv
A. b e d ¢
B. e a, b, d
C. d e a ¢
D. a b, ¢ d

-
-
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mmasé &3@5 / GENERAL KNOWLEDGE

RFACT TJR TRT I[RE RRTO I !

® > <

A. T.oo. Beod B. @0o@3es0T 30203
C. Noex® BoZore® D. zdozw

The first Kannada poet to win the Jnanapith Award is :
A. D.R. Bendre B. Chandrashekhar Kambar
C. Girish Karnad D. Kuvempu

oY Re3RY TIOITOTT DTTRT 301 TGS -
A. GST B. VAT
C. KST D. CST

The current uniform tax system in our country is :
A. GST B. VAT
C. KST D. CST

Rdonec @oédca%toﬁa DTPT AT BETH ¢

A. Q00000 @oédm%eojs DT LY

B. doderea @osdmééeosa NBPT AT £D

C. R 8307 HetT ©0ITTRHOD DFPT AR
D

. ©ocF amci%o@ R @oa‘cﬁm@&eoja NSO E’ber%se

The name of Bangalore International Airport is :
A. Indira Gandhi International Airport

B. Kempegowda International Airport

C. Subhash Chandra Bose International Airport

D. Lal Bahadur Shastri International Airport
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‘,;.@64’033534 TORLRT T3 :

A. 003 B. 8¢To

C. onow D. 3300

The country which invented ‘zero’ is :

A. India B. China

C. England D. America
d:ﬁaa"aés BT B3 WON AFVTTN BASROITT %r{rae%mrbgd :
A. 3L B. m@o®

C. DT D. Ze30s
Dialysis will be carried out when this organ of human body fails :
A. Intestine B. Heart

C. Brain D. Kidney

2018 © 53% msaéoéss@ TR WORRT {PTICOD SN :

A, Fmo Swer B. wmpoones

C. 2.0. 20 D. 08 I3
Indian player who won the 2018 world badminton prize is :

A. Saina Nehwal B. Jwala Gutta
C. P.\V. Sindhu D. Ashwini Ponnappa

agedn wwg,ésﬁﬁ.raocs ©®3C TTT FTRFTT TYPWWOW TewT JEH YT oo,

A. RxooT B. 2vgIdes
C. mum@@ D. mmm@

The state where recently inaugurated, the tallest statue of Sardar Vallabhabhai Patel
is :

A. Gujarat B. Madhyapradesh

C. Rajasthan D. Maharashtra
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10.

‘WITRET 237 gse_%os:a:el QTR :
A. 30TOR

C. 3330R
[V

‘Paramveer Chakra’ award is given to :

A. Artists
C. Teachers

B.

BCTOTLONPN

D. #p3od

B.
D.

Sportspersons

Soldiers

‘BSCT, BROWICTE, BIACHTRONCNWCT’ V0T T[WEITTTH :

A. 233
fan)]

C. oox0zY

The Vachanakara who said ‘Kalabeda, Kolabeda, Husiyanudiyalubeda’ was :
B.

D.

A. Basavanna

C. Allamaprabhu

QAR Fe0T BeI0 QTm FE !
A, B3

C. éécsmma@

The place of ISRO headquarter is :

A. Chennai
C. Hyderabad
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B.

D.

@@@mdea

30w m%modas

Akkamahadevi

Jedara Dasimayya

L3ONHART

Bengaluru

D. Kochi
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6,5,3,4,8,0 3309 e.-DOz“':rieéso‘;l a.,oz:Sé&os %as% 0 NVTO3RENTT TLBWITTD 7163"% 50936:
A. 860534 B. 865430
C. 806435 D. 860354

6,5, 3, 4, 8, 0, The highest number that can be formed by using all these digits not
using more than once is :

A. 860534 B. 865430
C. 806435 D. 860354

QONeTE eﬁchrieésael D ooz megopa TR @o%rira%mﬂ 10=%¢ m@ﬁdcj’ WTT WET

A. N B. O
C. M D. K

When the English alphabets are started from D and end with T, then the letter in
10th position is :

A. N B. O
C. M D. K

gmﬁ?s 23% VT TE WIWBeTD ﬁo;ﬁé :

A. 16 B. 25
C. 36 D. 49

319 214
The number which should come where the
question mark is : 4 116 517
A. 16 B. 25
C. 36 D. 49

81 3YNT BweTTeod O RBRoWHT UINET, TR0V !

20 4 5 16

A x, = = B. x, + =
C. = x, = D. x, -, =
Match the suitable signs in the equation given below :
20 4 5 16

A x, = = B. x, +, =
C. = x, = D. x, -, =

29 A



5. IREO WIRQ wRO VDT WNE, FOSRT wIRT, I3

A. B. N
N

C. [ D. 7

Identify correct picture in vacant place in the model picture:

A. B. <

PZON
/

6. Dosw BR 308, E o BR 32#¢30, Tomnd D 3o E S 308 SroQThs Towog .
A. 3DpeTT B. S»%

C. 303 D. =@

D is the father of B, E is B’s sister, then the relation D has with E is :
A. Brother B. Uncle
C. Father D. Grand Father

7. Hossy, BULIOHR, Beg LOITWRODR TREFRADR.

25, 36, 49,
A. 64 B. 81
C. 16 D. 75
Complete the number series with suitable answer.
25, 36, 49,
A. 64 B. 81

C. 16 D. 75
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10.

mme& W08 TR 2 mbws ﬁ“egd RT3 892, J033 ad% 3TN ®03ST m)% aoon =3
m)% édaﬁ:@gd. TOMOTT TR B3N 08D ZPRHF asa& :

A. emgd B. dﬁw

C. Ip=e D. =§=

A person facing east, moves some distance, then turns left, then turns right again
turns right. Then the direction in which he is facing is :

A. North B. South
C. East D. West

RRASRTTY 12 Rotd 30 NI TS oLTITN, T SN ST DJETDT ERCT ¢

A, o 3w B. oow %nes
C. Qo0 &l D. zx0¢ dnes

The angle between the hands of the clock, when it is 12 ‘O’ Clock 30 minutes is :
A. Acute angle B. Right angle
C. Obtuse angle D. Straight angle

Too, WP, RACR, WWIT BIRQ TAITT YIS, HTHI2, St ATrICHT, TROFRRLL :

See the question figure, identify appropriate answer in answer figure and complete
the series :

B9, 88, Question figure

VA RAVAVA R VANEIY:

3T g Answer figure

A B C D

MM YU AT

31 A



Rough Work
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